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INSTRUCTIONS

Integrate case study evidence, as well as geographic terminology and concepts, into your answers.

Case study evidence refers to information about communities, areas, or countries that are at different
stages of development. You may use the same or different case study(ies) in each part of the question.

Geographic concepts you may choose to use in your answers include:

Environments
May be natural and/ or cultural. They have particular characteristics and features, which can
be the result of natural and/ or cultural processes.

Location
Where something is found. Location can be an advantage or a constraint. Location can be
described in absolute or relative terms.

Perspectives

Ways of seeing the world that help explain differences in decisions about, responses to, and
interactions with environments. Perspectives are bodies of thought, theories, or worldviews
that shape people’s values and have built up over time.

Change

Involves any alteration to the natural or cultural environment. Change can be spatial and/or
temporal. Change is a normal process in both natural and cultural environments. It occurs at
varying rates, at different times, and in different places.

Interaction

Involves elements of an environment affecting each other and being linked together.
Interaction incorporates movement, flows, connections, links, and interrelationships, which
work together and may be one- or two-way interactions. Landscapes are the visible outcome
of interactions. Interaction can bring about environmental change.
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QUESTION

(a)

With reference to ONE named indicator, explain the advantages of using this indicator to measure

differences in development in case study areas.

Examples of indicators you may wish to use are HDI, GDP, Happiness Index, life expectancy, GNI,

HALE, or any other indicator you have studied.

Indicator: HB4+ Infont  Mortility Roie

PLANNING

Hh— stands for  homan  devel pement Nave 2.z

H—rrreasores

Infont Movhility vatt measwes  +he amount
of babies whien  dil  wnile  +hey ok being
gven birin 0. Afgnc\ms%oms Infant  Mortility
Rate is L6/1000 wWheveos the USA’s 8 only
5/1000. The  advantages of using  Hhis  indicotor
o measv  the  differences  in dewelopmaent
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between  Afghanistan and  4he USA i that we can
tell  fvom e data 4hat  the health cave given
1o people, ,eséfc‘a\g pregnont  women s twible
N Alghonistan, (aus SO many babies 4o die
ot bivth, 46/1000. \Whenras  the  healtihcare in
He 034 is  alol  beltey V,me,anmcj that o lot
less babies ak  dyng at  Dirdh, 5/1000. So
this  Shows us  dhat  4he  diffevences in
development between Afghanistan  and  the USA
are  dvashically  different and  that  he USA s
a lob more deweloped Hhan e Afghanisian is
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(b)  With reference to ONE named strategy, explain its effects on reducing differences in development
in case study areas.

A strategy refers to an action that has been or may be taken by governments and/or non-
governmental organisations to reduce differences in development.

Strategy: Sk o ¥eshon

PLANNING

Skatesion in o non-profit  orgonisation,
founded in 2007, to Lmpouoer childven
Hvougn  Skake boarding adl  education.

~TC Fgrmallgj in Mf‘ghaniwan,APghan girls ove
net  aleud to Ploy—sport, howlever 4nhe
Skatbocvd (was  Seen o oL . »&cl:j w) hich
oveated o \co{:hol_e, for them o have Lfoun.
Skoleistan has a el —4o- chool
pegramme  where  enildeen  who do not
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atrend Scrool, con attend Skatraistan’s Skate

School wheve 'H’\-Qi.j waill learn S Src:@ieh
of educadion In A monHs. APler these 11
months  ave  up Skateistarn will  enroll the

Children  inle  public  Schools Typically 'n e
Hird  or  fouth 3molz, so dhol  they can
Conti NuL theiv  educakion. TThis Shategy coill
educe the diffevences in  dewlopment N
A&?haﬂis{-m and the USA., FHr—is—becaunse—
:Et;:' Curvent  literacy vates  in F\Q%)‘\c:\r\i&l-om ave
827 fuy rg‘rq@l:%"s omd @ 2 VL DPor m As
you con . See these NuMbers are Very  low
and _this s due +o 4he |lack of educodion.
Wheveas in 4he  USA molss hharacxj Yotes
ove  AO0% oard females are 285X, which
'S Ale t hifjhu_ Skatoiston  and  Hheir Swo’reggj
will ymprove FERr the \H.QVQCj vakes in
Algnanistan  because Mo young - children il
e 9e+hh3 an education, meaning  when  4hey
become 15 (rars of  age and o\\/%h elgable  for
\|‘+evacH ates  data —Hf\ay wi —%)édﬁ_ the quwm’!ﬁﬂ“
they will be  educaled, and vk +he  ability fo
wte  ond vead. Which  will  4hen  Somewlat  veduce
the diffaences 4 in  devklopment  between Afghanistc
ond the USA.
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Achievement Exemplar 2022

Subject | Level 2 Geography Standard | 91242 | Total score | 04
Q SLECE Annotation
score

This response provides evidence for an A4 overall. The candidate demonstrates
some understanding of differences in development in part (a) with a brief
explanation of an advantage of using infant mortality rate to measure
differences in development between Afghanistan and the USA. The response is
straightforward, with some case study evidence and one reason. More
explanation of how the indicator measures development would add detail.

A4 Part (b) has a brief explanation of how Skateistan as a strategy improves
literacy rates in Afghanistan, bringing the literacy closer to the rate of the USA.
More detailed explanation of how the strategy improves other aspects of
development would improve the response closer to an M5.

Holistically across the two parts of the question an understanding of differences
in development is demonstrated. This allows the candidate an A4; to improve
this to an M5 the candidate needed further explanation overall.






